3x%+5)

Which of the following expressions is equivalent to
the one above?

@ 4x2—8v<L—7 ¢,sx2 B S
B) 4x*-2
C) w24 -8
D) By )

In the equation (a.}+ 3)? = 36, a is a constant. If

x = -3 is one solution to the equation, whatis a

possible value of a ?

é;% (als)13 b

_ 3a¥3 = b

D) o0

_'5(1\:3

9ax+9b-g=21
‘ +
Based on the equation above,‘whatt?s the value
orfvax + b2
B) 6 Tax t oy QT

C) 8 )VJ _
o N (0\2\ th) = 27

Iumhed stmlght by 15
number-z 2 rée)plesent in the function?
T he Thitial height, in feet, of the object
B) The maximum height, in feet, of the object
C) The initial speed, in feet per second, of the object

D) The maximum speéd, in feet per second, of the
object

he air. What docs the

Q
=92 _4x+4

{
Y
¥=4-%

If the ordered pair (x y) satisfies the system of
equations above, what is one possible value of x ?

X = OO(B

2

x+1=
x+1
In the equation above, which of the following is 2 .

possible value of x+1 ?

1—J§
B) 2
Q) 2
D) 4

XA "

Which of the following is a value of x for which the

-3
expressio 15, undefined?
tZE +3x—10 l = o

A) -3
) - -
i) i (_é*s 7\1 1)

¥y
JLke3 15
:; #\\ }' ::-I x) S —'1 2
1+ \5 01| 3
\ X111 4
1 4 | 6\ 10
> \\ / 2|5
3 G—-‘? o
-4 4| 7

The complete graph of the function f and atable of

values for the function g are shown above. The
maximum value of f is k. What is the value of g(k) ?
\/__,—

A) 7 . (g} /6
D) 0




The function f is defined by f(x) = (x+3)(x+ 1).

‘Which of the followi exnumbers i alto : }

b ,0 eff O“,Img — e et The graph of f in the xy-plane is a parabola. W hich
(5+124) - (957 - 61), fo of the following intervals contains the &ggw:fz_
'] of the vertex of the graph of f ¢ - Z

B - 6i (== AT "4 <x<-3
@B I-3<x<1

T ey 5

19 ¢ Lt

6x+3
If f(x) = *%, whatis f(-1) ?

Which of the following expressions is equivalent to
B) -2 X‘*(‘) P _ 5.
+\Fo49_ /0 P2 =
L ntei3. By =

C) — <~
L. - 20 _ - D
D) 5 —Z /6}(—5_; S 3
By s 10 X+
x-3

)
| L 3’47—’< b)
K:\x2+

: Whigh of the followilg is equivalent to the
expression above?

. - ><R><¢

(x+3)"+ (o
@Y (x+3)°-5 - - ?2
% 3)? ZG\ (7532 +100y%) + 1@0}12 - 110} X ,g
/D,\z(x/— 3)2 -5 K= "‘S - The éxpression above can be written in the form

ay® + b, where a and b are constants. What is the

value of a+ b 1 7532.;. IDPJD\ .

ey Yex
<

| - ><—QL4' K
AN C\( NS +l0\\j

6432 * 240

axC+bx’+cx+d=0

In the equation above, a, b, ¢, and d are constants. 1 .
i The expression —x can be rewritten as
If the equation has roots -1, -3, and 5, which of the 3 \
! Y . . . A
following is a factor of ax®+ bx*+ cx+d ? @ - k)(x + k), where k is a positive constaLt -K

é( : l)( X ;,—0 ()(\» S} What s the value of -

Lackoes -‘K ) g

\

Q) V2

@ <~-fe




